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Consider the following statements regarding

interim budget.

1. The Indian Constitution contains specific
provisions regarding the interim budget.

2. The interim budget is valid for the entire
financial year.

Which of the above statements is/are true ?
(3 Only 1

(b) Only 2

(c) Both 1and 2

(d) Neither 1, nor 2

In the context of Indian economy, which of the
following measures is considered as national
income?

(a) Gross domestic product at market prices

(b) Net national product at cost of production
() Gross national product at cost of production
(d) Net national product at market prices

The 'buyback’ that is often in the news is related.

(a) Purchase of private companies by the central
government

(b) Repurchase of general consumer goods after
repair

() A company repurchases its shares

(d) Purchase of shares in public companies by
private companies

Which of the following represents fiscal

deficit?
(3) Revenue Income  (minus)  Revenue
Expenditure

(b) Primary deficit (plus) Interest payment

(0 Revenue income (minus) Capital receipts

(d) Budgetary Income (minus) Budgetary
Expenditure

The 'GAAR’ that is sometimes in the news is
related.

(a) Direct Tax

(b) Indirect Tax

() Disinvestment

(d) State Trading
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How many of the following subjects are
recommended by the Finance Commission?

. Vertical transfer of taxes

2. Horizontal distribution of taxes

3. Grants in aid to states

4. Other matters provided by the President

—_

Code :

(3) Only one

(b) Only two

() Only three

(d) All of the above

What if the Reserve Bank of India chooses to

create new currency to finance the government

deficit?

(3) Inflation will be seen in the economy

(b) Deflation will be seen in the economy

() All old currency will go out of circulation

(d) The Government of India has to amend the
FRBM Act

Which of the following activities of the

Reserve Bank of India is considered part of

‘sterilization'?

(3) Conducting ‘Open Market Operations’

(b) Monitoring settlement and payment systems

(c) Debt and cash management for central and
state governments

(d) Regulation of operations of non-banking
financial institutions

Devaluation of currency will necessarily have

an effect.

1. Improving the competitiveness of domestic
exports in foreign markets.

2. The foreign value of the local currency will
increase

3. Trade balance will be better

Code:

(a3 Only 1

(b) Only 1and 2
() Only 3

(d) Only 2 and 3
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reference to Marginal Standing Facility (MSF)

and Repo Rate.

1. Repo rate is the rate at which scheduled banks
can obtain short-term loans from the Reserve
Bank of India by guaranteeing government
securities included in the SLR quota.

2. MSF rate is always higher than the repo
rate.

Which of the
true ?

(@) Only 1

(b) Only 2

(c) Both 1and 2

(d) Neither 1, nor 2

above statements is/are

How many of the following are part of revenue

expenditure?

1. Grants given to the state government for the
creation of permanent assets

2. Subsidy and pension
widows

3. Purchase of fighter planes

4. Interest payment on loan

given to

Select
code.
(a) Only one

(b) Only two

() Only three

(d) All of the above

the correct answer using the

Consider the following?

1. Food prepared by a
family

2. Production of ice cream for sale by a vendor

3. Free repair work done by a person in his
home

chef for his

Whichoftheaboveisincludedinthecalculation
of GDP?

(3 Only 1and 3

(b) Only 2

() Only 2 and 3

(d) All of the above
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money supply.

1. If a person makes a fixed deposit of the money
kept in his savings account, then M2 will increase.

2. Ifaperson’sfixed deposit is deposited in his savings
account after maturity, then M2 will decrease.

Which of the above statements is/are true ?
(3 Only 1

(b) Only 2

(c) Both 1and 2

(d) Neither 1, nor 2

The term ‘policy corridor’ that is often in the

news is related.

(a) The gap between the budget target and actual
output of the Government of India

(b) The area between the marginal standing
facility (MSF) rate and the standing deposit
facility (SDF ) rate

() Difference between policy formulation and
its implementation

(d) The difference between repo rate and reverse
repo rate

Consider the following.

1. Life expectancy at birth

2. Average years of schooling

3. Per capita gross national income

How many of the following are indicators of
Human Development Index ?

(a) Only one (b) Only two

(c) All three (d) None

The Central Bank is called ‘lender of last resort’.

What is the meaning of this term?

1. To extend loans to trade and industry bodies
when they fail to borrow from other sources.

2. To provide liquidity to banks in temporary
distress.

3. Lending to governments to finance budgetary
deficits

Code:
(a) Onlyt1and2 (b) Only?2
(¢) Only2and3 (d) Al of the above
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account part?

1. Receipts which create liabilities on the
government.

2. Expenditures that create capital assets in the
country.

3. Receipts which reduce the assets of the
government.

Code:

(3) Only one

(b) Only two

() All three

(d) None

Consider the following statements with

reference to the Fiscal Responsibility and

Budget Management (FRBM) Act.

1. The FRBM Act prohibits the purchase
of primary issues of central government
securities by the RBI.

2. The objective of the FRBM Act is to eliminate
the fiscal deficit of the Central Government.

Which of the above statements is

/are correct

(@) Only 1

(b) Only 2

(c) Both1and?2

(d) Neither 1nor 2

Which of the following statements is not correct

regarding the calculation of Gross Domestic

Product (GDP)?

(a) Gross domestic product measures the total
production of final goods and services
occurring within the domestic sector.

(b) It includes the final value of goods and
services produced by a foreign national
within the domestic territory.

() Negative externalities are not taken into
account in calculating GDP.

(d) In calculating GDP, the total output of final
goods produced abroad by Indian citizens is
not included.
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Consider the following.

. Overdraft

2. Amount in current account

3. Amount kept in savings account
4. Demand Draft

—

Which of the above are demand liabilities of
the bank ?

(3 Only 1

(b) Only 1,2 and 3

() Only2,3and4

(d) All of the above

Consider the following statements regarding

neobanks.

1. They are fintech firms with only a digital
presence.

2. They do not have any bank license of their own.

3. They provide debit cards.

How many of the above statements are true ?
(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements regarding

current account of balance of payments.

1. A country with a current account surplus
essentially exports more from other countries
than it imports from them.

2. A country with a current account deficit
essentially imports more from other countries
than it exports from them.

Which of the above statements is/are correct ?
(@) Only 1

(b) Only 2

(c) Both 1and 2

(d) Neither 1nor 2

Which of the following represents Gross Value
Added (GVA)?

(3) GDP (minus ) Subsidies (plus ) Indirect Taxes
(b) GDP (plus) Subsidies (minus ) Indirect taxes
() GDP (minus) Subsidies (plus ) Direct Taxes
(d) GDP (plus) Subsidies (minus ) Direct taxes

7
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Foreign Portfolio Investors to foreign investors
who want to be a part of the Indian stock market
without registering themselves directly?

(a) Certificate of Deposit

(b) Commercial paper

() Promissory note

(d) Participatory note

‘Tax Expenditure’ refers to which of the

following?

(@) Providing exemption or
payment of taxes to taxpayers

(b) Expenditure incurred by the government for
collecting taxes

(o) Expenses incurred by the government on tax
disputes pending in court

(d) Deploying more human resources for less
tax collection

reduction in

Which of the following correctly describes the

meaning of ‘legal tender’ of money?

(a) Money that is paid to law courts to pay fees
for legal cases

(b) Money that a creditor is obliged to accept in
settlement of his claims

(o Bank money in the form of cheque, draft, bill
of exchange etc.

(d) Metallic currency in circulation in a country

Which of the following is related to the term

‘Core Banking Solutions'?

1. Itis the networking of bank branches that enables
customers to operate their accounts, no matter
which branch of the bank their account is in.

2. Itisanattempttoincreasethecontrolof RBIover
commercial banks through computerization.

3. Itisan elaborate process by which a bank with
large non-performing assets is taken over by
another bank.

Code:

(a3 Only 1

(b) Only 2 and 3
() Only 1and 3
(d 1,2and 3
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term ‘Merchant Discount Rate’ sometimes
seen in the news?

(@) An incentive offered by a bank to a merchant
for accepting payments through debit cards.
The amount that banks return to their
customers when they purchase goods or
services for financial transactions.

(c) The charge a bank charges to a merchant
for accepting payments from its customers
through the bank's cards.

Incentive provided by the government to
merchants to promote digital payments by
their customers through Point of Sale (PoS)
machines and debit cards.

(b)

Which of the following statements is/are true?

1. National Payments Corporation of India
(NPCI) helps promote financial inclusion in
the country.

2. NPCI has launched RuPay card.

Code:

(@) Only 1

(b) Only 2

(c) Both1and?2
(d) Neither 1 nor 2

Which of the following statements is/are true

about Bitcoin?

1. It is a decentralized virtual currency.

2. It is generated through complex computer
software systems.

3. The Reserve Bank of India has recognized it
as a legal tender.

Code:

(@) Only 1

(b) Only 1and 2

(¢ Only 2and3

(d 1,2and 3

Money multiplier in the economy increases due

to which of the following?

(a) Increase in cash reserve ratio

(b) Increase in banking habit of population

() Increase in statutory liquidity ratio

(d) Increase in country’s population
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to Real Estate Investment Trust (REIT).

1. REITsare only allowed to engage in commercial
real estate, not in residential real estate.

2. Dividends received from REITs are fully
taxable in the hands of the investor.

3. In India, all REITs have to be mandatorily
listed on stock exchanges.

How many of the following statements are/are
true ?

(a) Only one

(b) Only two

(c) All three

(d) None

Considerthefollowing statements with reference

to Infrastructure Investment Trusts (InviTs).

1. These are institutions similar to mutual
funds, which pool investments from
different categories of investors and invest
them in completed and revenue generating
infrastructure projects.

2. These are regulated by SEBI.

Code:

(@) Only 1

(b) Only 2

(c) Both1and?2
(d) Neither 1nor 2

Consider the following statements regarding

Non Deposit Taking Financial Company

(NBFC-D).

1. It can accept only time deposits and not
demand deposits.

2. These are part of the payment and settlement
system.

3. Statutory reserve ratio standards apply to
these.

Code:

(3) Only one
(b) Only two
() All three
(d) None




Q35. JeX dolc & ey # frefafed @i W AR Q 35. Consider the following statements regarding

T4 gender budget.
1. Jg 3MH T5TE 9 3T @W%HW QWWHW@ 1. It is separate from the general budget and is
iR fra ST 2 1 passed separately by the Parliament.
2. T AT o Higen faftre sl wfgen shed e 2. Inthis, the schemes are classified into two parts
ffl Wﬁﬁﬂ‘ﬁﬂ?@rﬁﬁm%l called women specific and women centric.
%< Code:
(a) here 1 () Only 1
(b) et 2 (b) Only 2
© 18R23A (O Both1and 2
(d) T4 ﬁ??ﬁ 2 (d) Neither 1 nor 2
Q 36. 39 U HI-9 tsqid (WMA) & e § fFfaflad d2Mi IR Q 36. Consider the following statements with
frar @ifor: reference to Ways and Means Advance (WMA):
1. I8 ohg 3R T S o 7T RBI A SR o ol gfen 1. This is a facility for both the Center and the
&, Ifeh <Tehc! g T STREt SHet i Wqferd ferar T states to borrow from the RBI, so as to balance
b | temporary mismatches in cash flows.
2. Ta9y WMA o feTu o T o411 301 €% o se 2. The interest charged for special WMA is equal
%I to the repo rate.
qu‘aamuﬁﬁﬁaﬁﬁ-m/ﬁ wEHE? Which of the above statements is/are correct ?
(a) o 1 () Only 1
(b) (b) Only 2
© 1 sﬁw 2 g (0 Both1and 2
(d) Td13WAE 2 (d) Neither 1nor 2
Q 37. 9O fRRIGR AT (MSS) & dag d fafafaa ®el  Q 37. Consider the following statements regarding
R faR P Market Stabilization Scheme (MSS).
1. Ig refeTae AUl it a8 o Wt B el 1. It assists in liquidity absorption in case of
SN T TR FRAT R | significant capital inflows into the economy.
2. MSS Wferyfersii =1 <91 % * S1idfkeh g TR b FHT 2. MSS securities are included under the ‘Internal
o e S foha T | Central Government Debt’ of the country.
Wmﬁﬁiﬁ?-m/@' TEE? Which of the above statements is/are correct ?
(a) a1 (b) a2 (a) Only1 (b) Only?2
(¢) 18R 2 2 (d) A1 RAH 2 (¢) Both1and2 (d) Neither 1nor 2
Q 38. BRI IR & ¥aH ¥ fF-feRed W faar aifsr: Q 38. Consider the following in the context of
1. ﬁ?ﬁﬁﬁﬂﬁw government borrowing:
2. AN RHAIG 1. Decline in private investment
3. Wﬁﬁﬂ?ﬁw 2. Interest rate increase
3. Decrease in inflation rate
aq‘giaa TN I TR ST % TRUTTHEEY dehTieTeh Which of the above is an immediate and long-term
af\l'{' E':'\'EiEFI"I%IE ASHT % ? hindrance as a result of government borrowing ?
(a) e 1 (b) FHae 1 3R 2 (a) Only1 (b) Only 1and 2

(¢c) HaA23R3  (d) 1,233 (¢c) Only2and3 (d) 1,2and3

1




Q 39. Ife fwe ufasr ¥ ve 3R df¥ad faedia dde 3T T Q 39. If another global financial crisis occurs in the near

Q 40.

Q 41.

Q42.

12

&, al frfoRad # 9 fow BRI 9 YRa o B ufoven
firem @1 HyraeT Jad AP 872

1. 1Y SFafe o e et R P =1

2. Siferer el SRt it wmad @redt <Td

3. TSl T R quf ¥ 9 uRad=E

A9- 111 AHEET BT 37 TAT 82

(a) i faifereran o fore T Tomifert ferenfad s |

(b) GHG TSI ohl ohH Al TifehT fershfiyd <9 o
TSR |

@ Wi H FNARGE ® geed %
foru faerfird <ol § T <9l 1 S e

|
(d) fardr ik snfdfe a9 foe sik Sifia v
T guR A & forg S & ot e o geR

AT

ferefeRad % 9 fooam ®oa 9 &2

1. MRdE fod §F 9Ra WER @ wfadfer
T T HYAT &, T 5T TR T Hferat b
&

2. ST forel R TR ERT ST foh ST & F fo o
TWEHRI ERT

3. o fored SRR THeed W w2 ST fohe ST 2

frafafad ¥ ¥ oF 91 YR R @t fik@ae @ A5

& folg IRBR/IARENIE GRT fBAT 911 arelt qad Hifaa

U TE 82

(a) TR-3MIIe aEGel & A W SFA A R
foita =l sreran < |

(b) STRA SUReATST Bl U1 Headiid HETe 9 SR
T o foTu Wicaed & |

() faceh anforfsorss SR © Heiftd ol ! STE ST

(d) forcamaTd Hifger =ifer 1 srgeon|

Q 40.

Q 41.

future, which of the following actions/policies is
most likely to provide some immunity to India?
1. No reliance on short-term foreign debt
2. More foreign bank branches should be opened
3. Full convertibility on capital account
Code:
Only 1
Only 1and 2
Only 3
1,2 and 3

What is the objective of Basel-lll norms?

a) Todevelop national strategies for biodiversity.

b) Reducing GHG emissions but places a heavy
burden on developed countries.

() Transferring technology from developed
countries to poor countries to replace
chlorofluorocarbons in refrigeration.

(d) To improve the ability of the banking sector
to deal with financial and economic stress
and improve risk management.

(
(

How many of the following statements are true?

1. The Reserve Bank of India manages the
securities of the Government of India, but not
the securities of state governments.

2. Treasury bills are issued by the Government
of India and not by the state governments.

3. Treasury bill offers are issued at a discount
to par value.

Code:

a) Only one

b) Only two

¢ All three

(
(
(
(d) None

Q 42. Which of the following is not the most likely

measure to be taken by the Government/RBI to

arrest the fall of the Indian Rupee?

(a) Curbing imports of non-essential goods and
promoting exports

(b) To encourage Indian borrowers to issue
rupee denominated masala bonds

(o Easing of conditions relating to foreign
commercial borrowings

(d) Pursuing expansionary monetary policy




Q43. YRd & ¥Wed #, Y1 Wbc & SIRa B HH Q43. In the context of India, which of the following

Q 44.

Q 45.

B & fon Ffofad § 9 o9 9 oR® AneH®dar

&2

1. I ok SIS &1 ol el T 3|
2. TR T o gfg

3. foreit & et & owor

1‘w&hﬁr&w’@m@aﬂﬁzﬁaﬂwﬁaﬂq

'gﬁﬁrﬂmwwaﬂaﬂmwm
|

3. ‘il T Teh STeuahIiereh [ & FTgeh ST Seeeh

4. "R~

IRd ¥ [ERBIfd-$3q9E §is (1IBs)' P IR A B WA Q 45.

e o foTu e ST 2 |

g’ g affTs S

gﬂ%@aﬁmmmmaﬁmm
|

A B 8182
1. YR IIB % H1eqY T 30 SR W %9 3 i F1

FHHA |

2. TIB 19 o ool | Sifeeraan | o o1 gRen

EHECTORS

3. 1B W W &S 3R UG @ &R A e

gl

factors contribute to reducing the risk of currency
crisis?

1. Foreign exchange earnings of India’s IT sector
2. Increase in government spending

3. Remittances from Indians abroad

Code:

(3 Only 1

(b) Only 1and 3
() Only 2

(d 1,2and3

. How many of the following statements are true?

‘Commercial Paper’ is a short-term unsecured
promissory note.

2. ‘Certificate of Deposit’ is a long-term
instrument issued by the Reserve Bank of
India to the Corporation.

3. ‘Call money’ is short-term finance used for
interbank transactions.

4. 'Zero-coupon bonds’ are interest-bearing
short-term bonds issued by scheduled
commercial banks to corporations.

Code:

(@) Only 1and 2
(b) Only 4

(0 Only 1and 3
(d) Only 2,3 and 4

Which is/are the true statement about ' Inflation-

Indexed Bonds (lIBs) " in India?

1. The government can reduce the coupon rates

on its borrowings through the IIB.

IIBs provide protection to investors from

uncertainty regarding inflation.

3. Interest and capital gains received on IIB are
not taxable.

o

Code:

(@) Only 1and 2
(b) Only 2 and 3
(¢ Only 1and 3
(d 1,2and 3
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Q46. RAAT T & TR ¥ -GN I A &

Q47.

Q 48.

Q 49.

14

&2
1. =it St % fo Sime ToiS SR 6 e €,
?WW%EWWWRWWW
|
2. el H oo W fasheq S€UNE ol wdl
SUHIFT HIHAT o 70 Seae o fel wer s

‘ATl 48’ & IR ¥ Y& BUF Fd DY

1. & TR GEA13i §RT Y o S8 ST} feh T 7T &9 1-
Heore e ¥ |

2. Hrestes SR Fsh S Hed 39 |ive i S o
TEA R

‘e Sftee” & a1 3ref 22

(a) ST I YT <ht ST AT SFedeRTet gt

(b) 1T ST &l eI st ST el SrefehTiores We-310
it

() ©ITS % T TR <hl eI i TS 4R

(d) S T AT 3R AL & T Yo & e
e

e Hfa wfifa & def ¥ fFafaflga TRl W AR Q 49.

DI :

1. T she TR g1 TS 6 FeeiE aifd € |

2 Afw At W (o) w e
%\m‘cﬁw fod  §% % TER wd
|

SRE TR A -/ T L/E ?
(a) e 1

Q 46. Which is/are true statement about convertible

bonds?

1. Since there is an option to exchange bonds for
equity, convertible bonds pay lower interest
rates.

2. The option to convert to equity provides the
bondholder with a degree of indexation to
rising consumer prices.

Code:

(3 Only 1

(b) Only 2

(c) Both 1and 2
(d) Neither 1nor 2

. Find the correct statement about 'Masala Bond’

1. These are rupee-denominated bonds issued
outside India by Indian entities.

2. Both public and private entities can issue
these bonds.

Code :

(3 Only 1

(b) Only 2

(c) Both 1and 2
(d) Neither 1nor 2

Q 48. What does ‘'Venture Capital’ mean?

(a) Short term capital provided to industries

(b) Long-term start-up capital provided to new
entrepreneurs

() Funds provided to industries in times of losses

(d) Funds provided to industries for replacement
and repairs.

~

Consider the following statements with
reference to the Monetary Policy Committee:

1. MPC is a 6-member committee constituted by
the Central Government.

2. The Monetary Policy Committee (MPC) is
headed by the Governor of the Reserve Bank
of India.

Which of the above statements is/are correct ?

(@) Only 1

(b) Only 2

(¢ Both1and?2

(d) Neither 1, nor 2




Q 50. #ifge ifd Afifd & deof § frafafed oo ® faR @ 50.
DI :
1. g WER IO Hod guhe & Hed
H T R 9 fER famst wve wew S
Tof ¥ Tk IR GE Wha W @ed fwuila
|
2. ?ﬁ&gﬁﬁmﬁﬁmlw%aﬁz%sﬂwmﬁw
|

SR HUT H W BT/ R/E ?
(a) a1

Consider the following statements with

reference to the Monetary Policy Committee:

1. The Central Government will set the inflation
target once in every 5 years in consultation
with the State Government in the context of
Consumer Price Index.

2. The Monetary Policy Committee takes decisions
based on the vote of the RBI Governor.

Which of the above statements is/are correct ?
(3 Only 1

(b) Only 2

(c) Both 1and 2

(d) Neither 1, nor 2
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